Equations & More!
1.
Solve 5x + 4 = 3x + 7

2.
(a)
Expand and simplify 7(x – 2y) – 3(2x – y)

 (b)
Solve [image: image1.wmf]3
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(c)
(i)
Factorise y2– 5y + 6

(ii)
Hence solve the equation y2– 5y + 6 = 0

(d)
Simplify [image: image2.wmf])
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(e)
Simplify (2m3p)4
3.
ABC is an isosceles triangle.
The lengths, in cm, of the sides are

AB = 4a + 3, BC = 2b + 5 and AC = 2a + b
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(a)
AB = BC 
Show that 2a – b = 1
(b)
The perimeter of the triangle is 32 cm. Find the values of a and b.
4.
(a)
Find the value of 3p + 2q when p = 7 and q = –4

(b)
Find the value of x2 + y2 when x = –5 and y = 3

(c)
Use the formula R = 5e – 3f  to find the value of e when R = 6.4 and  f = 4.2

5.
(a)
Solve the equation 8 + 2z = 3(2 - z)

(b)
Solve the simultaneous equations. Do not use a trial and improvement method.

5x + 2y = 4

4x - 3y = 17

6.
Solve the following equations.

(a)
2x + 5 = 3

(b)
4(y – 3) = 18

(c)
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7.
(a)
List the integer values of x such that 5 ≤ 3x < 18

(b)
Solve the equation [image: image5.wmf]y
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(c)
Solve the equation z2 – 9z + 8 = 0

8.
(a)
Use the formula v = u + at  to find the value of v when u = –10, a = 1.8 and t = 3.7

 (b)
Solve the equations

(i)
7x – 3 = 6 + x
(ii)
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(iii)
2(z – 3) = 5 – 3z
9.
The angles of a quadrilateral are 73°, 2x°, 3x° and 102°.
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(a)
Write down an equation in x.

(b)
Use your equation to find the largest angle in the quadrilateral.

10.
(a)
Solve 4(x + 3) = 9(x – 2)

 (b)
Solve these simultaneous equations


5x + 3y = 6
3x – 7y = 19


You must show your working.  Do not use trial and improvement.

11.
(a)
Simplify 2x + 8 + 4x – 3 

(b)
Solve the equation. [image: image8.wmf]5
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(c)
Tom is investigating the two expressions ab + c  and  a(b + c)

(i)
He finds that both expressions have the same value when a = 1, b = 3 and c = 4.  Show that this is true.

 (ii)
Tom says that this means that a(b + c) = ab + c.  Explain why Tom is wrong.

12.
(a)
Solve the equation [image: image9.wmf]3
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 (b)
Solve the inequality 3x + 8 < 29

13.
Solve these equations

(a)
6r + 2 = 8

(b)
7s + 2 = 5s + 3

(c)
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14.
(a)
Solve the inequality 7y < 3y + 6

(b)
Make r the subject of the formula p = 3 + 2r
(c)
Solve the equation [image: image11.wmf]2
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15.
In a test there are 30 questions.  All candidates start with 25 marks.  Every correct answer scores 4 marks, but for every wrong answer 1 mark is deducted.

(a)
Jack attempts every question, getting x of them correct.  Write down an expression, in x, for the number of questions he got wrong.

(b)
Write down an expression for Jack’s total mark. (Remember that he starts with 25).

(c)
Jack scores 80 marks in the test.  Use your answer to part (b) to calculate the value of x, the number of questions he got correct.

16.
(a)
Expand and simplify 5(2a – c) + 4(3a + 2c)

(b)
Solve  3(x – 2) = 5x – 5

(c)
Solve  3x + 7 ( 1

17.
(a)
Factorise x2 + 5x – 14
(b)
Hence solve the equation x2 + 5x – 14 = 0

18.
(a)
Solve the equation  9(x – 1) = 5(x – 2)

(b)
Solve the equation  [image: image13.wmf]4
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19.
Solve the equation  [image: image14.wmf]1
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